13.4

Colligative Properties
Vapor Pressure Lowering — Boiling Point Elevation
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13.4 Colligative Properties
Vapor Pressure Lowering — Freezing Point Depression
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13.4 Colligative Properties

Vapor Pressure Lowering — van’t Hoff Factor?

dm ounr disscussion of Raoults Sow we have SYuck with men vdlokile figuids
( nonelectrolytes) oY dissdlve im males.
What § e used sulle ionic compounds ?

M NoQog) MN' + QA - =2
M Ca®a(ag) 3

-
o=

: 1M 2 + AM O

NAaY oo usimg o neaR acd ?

M HIN(@ag) = "MH" + "M N”

1L 70 Y < 2



13.4 Colligative Properties
Vapor Pressure Lowering — van’t Hoff Factor?

Which of the following solutions would have the highest boiling point?

a) 0.19m NH,NO, NHg + NO; & =2 23019 = 0.38
5 L = . = 0.36
b) 0.18m KCH,COO K + CHyc00 @ L2 A %x0.13
L = . 0.4
c) 0.21m NaCl Nt +@° @ ¢= & 2% 0.2 Y

d)J/ 0.44m Glucose (nonelectrolyte) °= t=1 1¥0.u44 = O.4y /




13.4 Colligative Properties
Vapor Pressure Lowering — van’t Hoff Factor?
"" Which of the following solutions would have the lowest freezing point?
aé) 0.15m Cul, s 21 =3 ENEIE = SRR
b)/ 0.17m Zn(CH,C00), Zm* +2 CH,000 © L=3 3x0\1 = 0.51/
c) 0.14m Col, Co** v 21" 73 IAO:NHE OHA
d) 0.47m Urea (nonelectrolyte) L=l 1% 0.w1: O.41




14.2 Expressing the Rate of a Reaction

Average Rate and Reaction Stoichiometry

Concentration versus time for reaction A =2 B
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14.2 Expressing the Rate of a Reaction

Average Rate and Reaction Stoichiometry
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